Maytag MFR80PDCTS 03 - TOP COVER ASSEMBLY

12-Sep-05

Maytag Commercial Maytag MFR80PDCTS Washer Parts Parts Diagram 03 - TOP COVER ASSEMBLY
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description

001 23004273 Top Cover Mfr80

002 23001006 Lock, Top Panel

003 23001007 Washer M21x27x1

004 23004103 Hinge

005 23004104 Bolt M4 X 8

006 23004093 Riveting Blind Nut M4
007 23004105 Rivet 4x6, 3

008 23001003 Rubber Cover, Soap Box
009 23003781 Dispenser Cover Retainer
010 23001012 Screw

012 23002652 Nut

013 23002673 Key-Top Panel

014 23001009 Hook, Lock


http://www.pwslaundry.com/c-299697-commercial-maytag-mfr80pdcts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799693-maytag-23004273-washer-top-cover-mfr80.html
http://www.pwslaundry.com/i-7797649-maytag-23001006-washer-lock-top-panel.html
http://www.pwslaundry.com/i-7797650-maytag-23001007-washer-washer-m21x27x1.html
http://www.pwslaundry.com/i-7799527-maytag-23004103-washer-hinge.html
http://www.pwslaundry.com/i-7799528-maytag-23004104-washer-bolt-m4-x-8.html
http://www.pwslaundry.com/i-7799517-maytag-23004093-washer-riveting-blind-nut-m4.html
http://www.pwslaundry.com/i-7799529-maytag-23004105-washer-rivet-4x6-3.html
http://www.pwslaundry.com/i-7797646-maytag-23001003-washer-rubber-cover-soap-box.html
http://www.pwslaundry.com/i-7799245-maytag-23003781-washer-dispenser-cover-retainer.html
http://www.pwslaundry.com/i-7797655-maytag-23001012-washer-screw.html
http://www.pwslaundry.com/i-7798525-maytag-23002652-washer-nut.html
http://www.pwslaundry.com/i-7798537-maytag-23002673-washer-key-top-panel.html
http://www.pwslaundry.com/i-7797652-maytag-23001009-washer-hook-lock.html

	Maytag MFR80PDCTS 03 - TOP COVER ASSEMBLY

